
                    
      ৯ম ও ১০ম  

                                                   

          ৫০                                      –        ০        

 

১. M                                       2.72x10-18 C ।   

N অপ              প         ভ  40         M         

প      অ        প      অ    ।   

 )           প            ?  

খ) K                                                      

            ?   

 )           প          ভ             ।  

ঘ)                                     ।  

 

২. A, B ও C            প            ৩  প      অ     ।      

                    খ         - 4, 5 ও 6 ।    

 )                       ? 

খ) Rb                           খ        ।  

 )    প    B                                 প       খ   

     ।  

ঘ)    প                প              ও             

 ভ              ।  

 

৩. ১0g                5g অ                            ।  

                   প   ( 15g ) প ও          ।  

 )                  খ ?  

খ)           ও               প        খ ।  

 )    প          অ        অ     খ              ।  

ঘ)    প                      প       ও            খ    

     ।  

 

 

 

৪. X                      ।              ও       

                      25%                    ।  

 )              ভ     ?  

খ)      ও                             খ ও ।  

 )                              । 

ঘ)        100g  প                  -   -অ            প  

                ।  

 

৫.                     -  
 
 

1. SO2 + O2 -> SO3 

 

2. Zn + H2SO4 = ZnSO4 + H2  
 

 )              ? 

খ)                                                 

     প        খ ।  

 )    প    2                                        খ   

     ।  

ঘ) 1                                          (   প ও 

  প )         খ ও ।  

 

৬.                      -  
 

1. C + O2 -> CO2 

2. Na + O2 -> Na2O 

3. Ca + O2 = 2CaO 

 )                 ?  

খ)                  =   ?  

 ) 1              প   অ        ?  

ঘ)    প    3                                      প   -  

          খ ।   


